Unit 6 Homework KEY   
1.  2 Cu    +    O2    (    2 CuO

2.      2 Al    +     N2     (    2 AlN

3.      2 HgO  (      2 Hg  +       O2
4.      2 H2O  (     2 H2  +       O2
5.      BaCl2 + Na2S (  BaS +   2 NaCl

6.      Mg + 2 HBr  ( MgBr2 +  H2
7.      2Co + 3 HgCl2 ( 2CoCl3 + 3Hg

8.     2 Na + 2 H2O  ( 2 NaOH +  H2
9.     Ca(OH)2 + 2HNO3 ( Ca(NO3)2 + 2 H2O

10. BaCl2 + (NH4)2SO4 (BaSO4 +2NH4Cl

11. Na3PO4 +3AgNO3( 3NaNO3 +Ag3PO4
12. 2 C3H6  +9 O2 ( 6 CO2 + 6 H2O
a.  A + B (  AB 
Synthesis 

b. AB (  A + B  Decomposition

c. AB + C (  CB + A Single Replacement 

d. AB+CD ( AD + CB  Double replacement

e. CxHy + O2 ( CO2 + H2O Combustion

a. Single Replacement 

b. Synthesis 

c. Combustion

d. Single Replacement

e. Synthesis

f. Double Replacement

g. Decomposition

h. Double Replacement 

i.      Decomposition

15. a. Cl
b. LiCl
c. Na
d. Na2O

16. a. Br
b. KBr
c. O

d. MgO

17. Br, I, N, Cl, H, O, F

18. Diatomic elements exist in pairs if they are not bonded to another element. 

19. 4Al + 3 O2  ( 2 Al2O3 Synthesis

20. 2 NH4OH +Cu(NO3)2(Cu(OH)2+ 2NH4NO3
Double Replacement 

21. 2CuNO​3 +Fe ( Fe(NO3)2 + 2Cu

or 3 CuNO​3 +Fe ( Fe(NO3)3 + 3Cu

Single Replacement 

22. H2SO4 + 2 NH3 ( (NH4)2SO4  Synthesis 

23. Cl2 + 2KI ( 2KCl + I2
24. Fe2O3 + O2 ( no reaction

25.  2HCl+Mg(MgCl2+H2   Single Replacement 

26. N2 + 3H2 ( 2NH3
27. 3AgNO3+Na3PO4(Ag3PO4+3NaNO3
28.  C9H8O4  +  9 O2  (  9 CO2  +  4 H2O

29.  3CuSO4 + 2Al ( Al2(SO4)3  + 3 Cu

30. 2 Ca + O2 (  2 CaO

31. Cu(NO3)2 + Na2CO3 (  CuCO3 + 2 NaNO3
32. 2 AgNO3 + K2SO4 ( Ag2SO4 + 2KNO3
33. 2H2 + O2 ( 2H2O
34. C2H4O2  +  2O2  (  2CO2  +  2 H2O

35. SO2 ( S + O2
36. ZnCO3  (  ZnO  + CO2
Sinlge Replacement Reactions

1. Fe2O3 + Co ( no reaction 
2. 2 Na + 2 H2O ( 2NaOH + H2
3. Ni + H2O ( no reaction

4. Co + HgCl2 ( CoCl2 + Hg

or  2Co + 3HgCl2 ( 2CoCl3 + 3Hg

5. Mg + 2HCl ( MgCl2 + H2
6. ZnO + Fe ( no reaction

7. Hg + H3P ( no reaction

8. 6 Li +Al2(SO4)3 ( 3Li2SO4+2 Al

9. Ca + 2H2O ( Ca(OH)2 + H2
10. Ag + HCl ( no reaction
Double Replacement Reactions
1. AgNO3(aq) +HCl(aq)(AgCl(s) + HNO3(aq)
Net ionic equation: Ag++Cl-(AgCl(s)
2. NR

3. 2(NH4)3PO4(aq) + 3CaCl2(aq) ( Ca3(PO4)2(s) + 6NH4Cl(aq)
Net: 2PO4-3 + 3Ca+2 ( Ca3(PO4)2(s) 

